TS &

A

<

A

N

iz (B1 L

X)

THE4 | R4HLE MAABER B - PRl sk TH FERXS TH MR HERT - (ETE
TS5y TH S
TFX Sy « TRE - FER - FmB1 S BT e (FimE) & (4mE) B i 2
TH RS
2V 1
LT
2V 1
EEFTHRZ T
= 1
AREERR YT EEERRARR 7 A7 7V M EHERR, SR 15
Omm
m 8
A IR A ERERSCRIRI 727 7V MERHE R, Sl RS
:bem
m2 160
T A7 7 bR R L ER
m3 8
E N
m2 160
KE BB : 47 (2. 3024 F2. 40t /m35R
i), MOEHRKS AR As (13), &
LS 50mm, FH0E E 3. Omid m2 160
X R T
= 1
X R T
2V 1
VA = X R i TR Sy Al T g, k- (1
H R W=15cm FRIX 3 S50 15em, B4R JE 1. Smm,
PEACPESH%E 4 L m 80
B LTS RAET 2 THORE -1 - T IR




THEHERER (GE1 LX)
TH4 | R4IE AR BEH VA - I Skt L HEX T PRAHER - 1
THEXSy H K ERE
THXSy - THE - R - ) Bk HLAZ Gl R (4[E) KR e
L
= 1
AR BT
= 1
AR R
(B)
AH 4
BT ER
= 1
IR
= 1
HLm R (F5 L)
= 1
T HE
= 1
Bl ey
= 1
Tl
= 1
— A B A
= 1
TS
= 1
Ja TR RAET 2 TFRORIH -2 - TR IR




1=

A

=N

A

A

N

<

iz (B1 L

X)

THE4 | R4HLE MAABER B - PRl sk TH FERXS TH MR HERT - (ETE
TS5y TH S
TEX Sy « TfE - FEY - 4051 JRRE BT ¥ (Rl HE (5E) R i 2
T2 BAE M OV 7 3 e Bl 4
= 1
TR
= 1
B LTS RAET 2 THORE -3 - TR IR




TS &

A

A

fhize (SF2 L

X)

VT
TH4 | R4t MeBEe AV - FBh SEERE T E HEX T PR - 1
THXSy HERERE
THX Sy - AR - R - A Bikk HAL Gl e (4E) H R e
HERERE
= 1
THi%E T
= 1
SSEFTHA X T
= 1
SRR GO SRR 7 A7 7 v MRRERR, BHEEIE 5
Omm ) -
AL B AT AR 72770 MRSENR, BRI
oo m2 1,030
TAT 7 b T AL B
m3 52
RpEgir
m2 1,030
xE FPEMREEE : 459 (2. 3014 _E2. 40t/m3R
TAI—T
m 112
D] T
= 1
DI
= 1
Ja TR RAET 2 TFRORIH -4 - TR IR




N

A

== KL =LY
T H5 &

A

fhize (SF2 L

X)

TH4 | R4IE AR BEH VA - I Skt L HEX T PRAHER - 1
THEXSy H K ERE
THX Sy - AR - R - A Bikk HLAZ Gl e (4E) H R e
Ve = X R s TGRSy i CFmh, Bk -
FIiE#R W=15cm BEX Sy R 15em, B4/ : )2 1. 5mm,
PR PRSI L m 60
Vo= X R i T VEIK Gy TR T8, Bk -
M5 W=15cm FEX Sy FEHR 15em, HeA)E : JE 1. Smm,
PEAKPEAES L m 240
Rz I
= 1
ATIE P T
= 1
AL IE B A
(B)
AR 8
B L HEE
= 1
IR R
= 1
Limfa g (FGk L)
= 1
WIT
= 1
Bl E P
= 1
Tl
= 1
Ja TR RAET 2 TFRORIH -5 - TR IR




=Ca 2 =._ Y\ Viviye —
THEAERER (B2 1LX)
THE4 | R43tE MradiEm I - P &itEskE TH FERXS TH RS HERR - (558
THEXS TH K ERE
TEXSy - TFE - fER] - M5 Hikg HAT e (FimE) e (AED) Fram R
— A T
= 1
T AT
= 1

THE BN O 7 & B4R

TH2EE

B LTS RAET 2 THORE -6 -

=
N
Jjm



